
SAP ABAP table RTP_US_BEN {Beneficiary table for a retirement plan}

RTP_US_BEN

CLIENT [CLNT (3)]

BKKRS [CHAR (4)]

PLAN_NUMBER [CHAR (15)]

PARTNER [CHAR (10)]

BUT000

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]
 RTP_US_BEN-PARTNER = BUT000-PARTNER 0..N

1

RTP_US_PLAN

CLIENT [CLNT (3)]

BKKRS [CHAR (4)]

PLAN_NUMBER [CHAR (15)]

 RTP_US_BEN-PLAN_NUMBER = RTP_US_PLAN-PLAN_NUMBER 
0..N

1

T000

MANDT [CLNT (3)]

 RTP_US_BEN-CLIENT = T000-MANDT 

0..N

1

TBKK01

MANDT [CLNT (3)]

BKKRS [CHAR (4)]

 RTP_US_BEN-BKKRS = TBKK01-BKKRS 

0..N

1


